September 08, 2014

2-1 Operations with Polynomials
(Book 6.1/6.2 pgs. 315-329)
Objectives:

- | can identify the parts of a polynomial

- [ can perform operations with polynomials
including addition, subtraction, and
multiplication
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Monomials pg. 315

Identify the monomials: x’/ y + 3y* — 5y + 10 a’ bc[76
> abe'* 70
Monomials: X, AA "bC ™,

28 >
Not monomials: (j '\‘381 ’6\;] +(0

xo*\K
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Identify the degree of

. Monomial x3 a*bc"?
each monomial.

Degree 3 l‘ ll O
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Polynomials pg. 315

2 e 3
Identify the terms of the polynomial y + 3y* — 55 -!_-_193 %\JA 6\;] ‘ (@)

Identify the

of each term

Coefficient 3 -5 lo
0{3 \lom atvz.o.,

Identify the degree of
each term.
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Adding Polynomials pg. 316
Ex 1 (4¢*— x* + 2+ 5x%) + (—x + 6x* + 3x*) VZQICN
J Vv N Yy v
Shandagp X X+ +2
Aorwn _+3x* +6x* —x
8x* —x*  +10x* —x 42
Ex 2 (10x—18x 4+ 6x* —2) + (—7x*+ 5 + x 4+ 2% honz.
—> (&' 182 + 10: D) + (2 £20 £5+9)
n’\
ol 6x —75(4) ("l%%a+2x3)+ (W+x)+(—2+5 )
Xt e+ |IX 43

Add the following polynomials pg. 316
M‘-{;&sz—\ﬁt’+4—/}si)+mg_—’_t3_f+l2)
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D1 NP
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Subtracting Polynomials pg. 317

(12x° + 5x — 8x + 19) m 18x°)

Write in standard form. 9;0\(\d 122 —8x* +45x +19
Align like terms and add the opposite. +18x —6x* +9x —3
Add. 30 —14x* +14x  +16

(—4x* + 82 + 19 — 5xYY9 £ 2%k 10x Q
and -

Write in standard form and add the —5x° 4+ 8x> —4x? + 1 10x° = X2 9)

opposite.

Group like terms = (—5x5 — ) + ( ) + ( — 2x2 )+ ( — 9)
Add = + 8x* — + 10

Subtract the following polynomials pg. 317

(237 —9x* + 1) £(—ox* + 62 — 31)

(72 + 13x — 8x° + 20x%) — (—2¢° + 9x?)
P 3xB)CHLOR 42K~ A"

01 Hl K 4K




September 08, 2014

Pg. 318
The data from the U.S. Census Bureau for 2005-2009 shows that the number of male students

enrolled in high school in the United States can be modeled by the function M(x) = —10.4x°

+ 74.2x* — 3.4x 4 8320.2, where x is the number of years after 2005 and M(x) is the number
of male students in thousands. The number of female students enrolled in high school in the
United States can be modeled by the function F(x) = —13.8x” 4 55.3x” + 141x 4 7880, where
x is the number of years after 2005 and F(x) is the number of female students in thousands.
Estimate the total number of students enrolled in high school in the United States in 2009.

In the equationIT (x) = M(x) + F(x),|T(x) is the total number of students in
thousands.

Add the polynomials.

(—10.4x° + 74.2x* — 3.4x + 8320.2) + (—13.8x° + 55.3x° + 141x + 7880)

= (—10.4x° — 13.8x°) + (74.2¢* + 55.3x%) + (—3.4x + 141x) + (83202 + 7880)
= —24.2¢° + 129.5x* + 137.6x + 16,2002

The year 2009 is 4 years after 2005, so substitute 4 for x.

—24.2(4)° + 129.5(4)" + 137.6(4) + 16,200.2 =~ 17,274

About 17,274 thousand students were enrolled in high school in the United States

in 2009.
V=length x width x height Pg. 327
=(x43)(x+2)x v=vi+ v+ v+ vy
{ /> = volume of v4= volume of
b's this piece this piece
X+ 2 v, = volume of = volume of
2 A S
X + 3 this piece this piece
Identify the volume of:
V4 Vs
V> V4

So the volume of the rectangular prism is the sum of the volumes of the
four smaller regions.

Vi+V,+V;+V,= + + +
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Multiplying Polynomials pg. 328

-Sx ‘_6x3 =—3-0x1 +3 _22;21:42 _—&Zi= _10x2y4+221 +1
X Xg = 30x* = — 105y

a2 v% .
X X XX = X
(243x)(1+x)=2(14+x) + 3x(x+ 1)
=2(1) + 2(x) + 3x(x) + 3x(1)

=242x43x"""' 4 3x

(235l = 2 - 2023

2
+
(9a]
=
+
W
k'\l
<R

Pg. 328

Ex1 (+2)(—%+2)
Find the product by multiplying horizontally.
(x+2)(2x* — 4x+ 1)
x(2x%) + x(—4x) + x(1) + 2(2x%) + 2(—4x) + 2(1)
2 —4x* + x4+ 4x* —8x + 2
2 —Tx+2

Therefore, (x + 2)(2x* — 4x 4+ 1) = 2x’ — 7x + 2.
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“7 \ 2_ Pg. 329
(3x—4)(2 +x—7x? X ‘D)b\\
Find the product by multiplying vertically. —-2%('\ E ;
XK L (l[Wi'%g)Egp)olynomial in standard form.

3x—4
2
2%)( —4x—8 Multipy —4 and (—7x* + x + 2).
"’Z\X +3¢+ 6x X D Multipy and (—7x* + x + 2).
v Vv
—21x3 + %‘ X +2x— 8 Combine like terms.

Therefore, (3x — 4)(2 + x — 7x%) =

Multiply the following polynomials pg. 329
(3 + 2x)(4 — 7x + 5x?) S)(o\\;\d\o\\(c}\ *eD\{W\ \\
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94 B
(x—6)(3 — 8x — 4x?)

L vV oy
3¢ -3';<'L—L{)<3
b+ Ex 124

L3l 5 < ~|F




September 08, 2014

Multiplying with a table

(x2+3%x-5)(x?-x+1)

(~ e

X2 -X 1
Hand\ 2 W VERINE
+3x X3 | -Ox7 | 2X
-5x* 1 5X

X% ‘\‘ZX /rBX’Cj

0L *| Jw =\
9. R =N)- F(X)
’f"(O T(x) = \0(9) Aty)

62 (X + 7 +%)*
S'X% (><+ g2 ) ye)




